FAISALABAD ELECTRIC SUPPLY COMPANY LIMITED

Ser

Language of

No Name of Post BPS Age Posts / Quota Composition of Paper Paper Qualification Required
i. Matric with 03 years Diploma (DAE) in Electrical
Technology in 1% Division from Govt/recognized
18-30 . Poly Technical Institute.
. . P Marks = 50% .. . . .
yearsas | I. Merit = 49 ( .assmg arKs 0)_ . Il.  One year experience of the trade in a supervisory
1 | LS 15 on ii. ECQ=13 Technical from DAE (Elegtrlcal) English post in any electric supply/undertaking/electrical
closing liii.  Minorities = 01 ouiz ;F\Oclﬁe j:’e?lli‘;tjv;ezo e/°_ Lo concerned Firm/WAPDA/NTDC/DISCOs.
date. P ge =0 ii. Condition of 01 year experience is relaxable in
case of candidate possessing Degree in Electrical
Engineering from recognized university.
i. Matric with 03 years Diploma (DAE) in Electrical
: Technology in 1% Division from any Gowvt/
— [0)
i Merit=12 (P_assmg Marks =50 A))_ recognized Poly Technical Institute or equivalent
2 | SSO-I 15 -do- ii. EC __03 Technical from DAE (Elegtncal) English qualifications in the relevant field.
' Q= _ Course subjects = 90% ii. 03 years experience of the trade in a supervisory
Quiz of Computer Knowledge = 10% . . . .
post in an Electric concern in the construction,
transmission and distribution works.
| Merit = 94 (Passing Marks = 50%) Matric with 3 Years Diploma (DAE) in Electrical
3 | Ls-1 14 -do- . E(_:Q = _24 Technical from DAE (Electrical) English TeCthIOgy 15? Division ffom any Go_vfernr_nent_ Poly
illl.  Minorities = 02 Course subjects = 90% Technical Institute or equivalent qualification in the
iv. Disable =02 Quiz of Computer Knowledge = 10% relevant field.
i. Merit=24 (Passing Marks = 50%) Matric with 3 Years Diploma (DAE) in Electrical
) e ii. ECQ=06 Technical from DAE (Electrical ' Technology from any Government Poly Technical
4 | sso-n 14 do iii.  Minorities = 01 Course subjects£90% ) English Institute or equivalent qualification in the relevant
iv. Disable =01 Quiz of Computer Knowledge = 10% field.
e acones
5 | Lab Assistant 14 -do- ii. ECQ=04 (Electrical) Course Subjects English . gy tror y ernment Foly
(Passing Marks = 50%%) Institute or equivalent qualifications in the relevant
- field.
I.  Merit=08 Technical from DAE Matric with 03 years Diploma in Mechanical /
; . (Mechanical / Instrument) . - S
6 | Fitter-1 (GSO) 09 -do- 1. ECQ=02 English Instrument Technology in 1% Division from any

Course Subjects
(Passing_] Marks = 50%0)

Govt. / recognized Poly technical Institute




Ser

Language of

No Name of Post BPS Age Posts / Quota Composition of Paper Paper Qualification Required
. S Technical f_rom SUbJe.C.tS of two i. Matric with science (C Grade) & 02 years
. Merit =09 years Fitter Certificate certificate from a Technical VVocational Institute
7 | Fitter-11 7 -do- ii. ECQ=02 (Electrical / Mechanical) from English . . . '
Poly Technical Institute / il Three years experience of the trade in reputable
TEVTA (Passing Marks = 50%) firms,
i. Matric with science (C Grade) & 02 years
certificate from a Technical Vocational Institute
i. Merit=06 Technical from DAE with one year experience in the trade.
8 [SS.A 7 -do- ii. ECQ=01 (Electrical) Course Subjects English OR
(Passing Marks = 50%) ii. Three years Diploma (DAE) in Electrical in
(C Grade) from any Govt. Poly Technical
Institute.
i Merit=06 Quiz on Pakistan Studies, _ _ B
9 | welder 7 -do- ii. ECQ=01 General I_(nowledge / (_:urrent Urdu Matric (g) Grade)_ alongwith Trqde C(_ertlflcate from
' Affairs and Islamiat a recognized Institute and experience in trade.
(Passing Marks = 50%0)
i. Merit=37 . - I. Matric with 02 years Civil Draftsman Diploma
10 ii. ECQ=09 Technlcal from Civil Drgftsman . from any Government recognized Institution.
Tracer 7 -do- ST Diploma Course Subjects English . . .
ill.  Minorities = 01 . _ iIl. Computer Knowledge (MS Office, Windows,
(Passing Marks = 50%o) .
Internet & E-mail)
I.  Merit=134 Quiz on Pakistan Studies,
11| ASSA 5 -do- I:: Ilf/lci:r%r_it?et - 03 Gene;\?]lcaii(rrgoggllgdlgleaﬁq?:trrent English Matric with Science having at least “C” Grade.

(Passing Marks = 50%)




